1 9
o
< (o]
5 e @‘
£ S E o Y= gl | —J
el | € SE £ ) £ £
El | 4m 2o N £
< < = = () < =
- I - 3 o ~ D
Wx = 8 v C
Wz Y ww9/1] Wwiz 9| jww/
—_———— T e e P
M - wuge | = 2
S °
P = wuwgy T[T wuwgy 5
) <
w
© Q@
: ¢
~ 3 T m
w 9 o . I S
€ ©
O E < \
C
D~ > ©
m )
—
i = =
a IS £ “~
o~ o NS ,
= v
om o < A\ €
w T §
a ~. O ~
- prd
- jomm ]
g = =2
R £ " -
n < & o
jmm) T £
- i ke
i
———— . D AN
7mm 176.Tmm 16.2mm |[7mm
4 < - A
Tale i : ST
£ 1§ @ 9 & T & £
<t el [T .
o [ 5" 5 P @
= [ N
9
- >8
vaz *ssawyIy} Joop 1ad se ‘Apoauiod ajoy (9) 03 Jons) Aay| asuj (930N
vz v3e YZXSIN He sma.ds ajepidosdde asn o (*ssaux1y3 Joop Jad se azis Joy3o 0}

OLXINHA bLXLH pabueyd oq jjeys 0EXSINI HE)

‘6L XYL Hd X1 ‘usyy puy

3541 VY ‘0EXSIN HE $O SM3.3S X1 o
*} uo Japns ybnoayy

uoROAIP 39KPEIq By WIUOD) o

(v32) A T}
ONN 91-91/€ H4

(v3lL)
OLXYN H4

V3 0LXSIN HE : Wws®
% V¥ 09XSI HL : WW0g~0L @

‘J00pP31No 0} Joopul woly

vag Yeys a|puey asu|

NN 9L-OL/E i V3Y 0EXSI HE * WUi05~0r (D

ssawpIy] Jooq

%
(v32) 0EXSIN HE

OLXYN H4

L] @%H
War (v32) 0EXSIN HE

—— g L@
(v3z)
ONN 91-91/€ H

ﬁw\ﬁ

(v32) LLXSW HO I

S N/

O
(v3al) 61X¥L H4

[ 1]

NOILNVOV/

A

auiged joeg jauiqged >peq Joj jaipelg OSIHIOIA jsuiqged juo.4

(OO0 TIN) m3IA papoldxy uonejeisuy




How toinstall -1 (Vlortise L.ock)

/\ Notice

® Installation method for left handed door and right handed door is same.

® Before installation, adjust the direction of latch bolt and striker as per door opening direction.

» Change latch bolt direction

@

y Vi
0
. % I S S— L AReC)
A 0
. - o
b
RH LH

1. Rotate latch bolt

2. Confirm the direction of latch bolt and
fix the plate using FH M4X10, 2EA.

= |nstall mortise

1. Insert mortise to side of door and pull out cable
to indoor.
2. Fix the plate using FH 3/16-16 UNC, 4EA.

FH 3/16-16 UNC 4EA

Outdoor

* Place ‘SL logo on mortise to lower side

= Change Push-Pull direction

o Check the lever on front cabinet
and back cabinet.

Lever for =——
direction change

PUSH
@0

-

PULL

G

Front cabinet

1. Pull - Push direction change (Front cabinet)

(@ Release screw (PH T3X8)
@ Move the lever towards required direction.

® Fix the screw to hole below the lever.

™ Direction lever

<=
P

PUSH PULL PUSH || PULL
o® K [@)e)

— Screw (PH T3x8)

2. Pull > Push direction change (Back cabinet)

(@ Release screw (PH T3X8)
@ Move the lever towards required direction.

® Fix the screw to hole below the lever.

Direction lever < S
i f Y m—i
PUSH | PULL PUSH Il 1 PULL
®0 o®
Screw (PH T3x8)

How to install - 2 (Product)

1. Insert handle shaft from outdoor to indoor and fix stop ring
to the hole on indoor side of handle shaft.

T

Outdoor L= Indoor

I

ouT |

oY /N

=

@»
—

\
(

2. Insert handle shaft to rectangular "Handle shaft hole" of
installation template and stick the template to indoor side.
Fold the template along to folding line.

3. Fix the exact position of template and mark the dfilling
position for hole making. Change direction of template and
mark the drilling position on opposite side in same way.

Make indoor hole Make outdoor hole

N %/
E N
Mark drilling N
position
(]
In
& Hole of
o handle shaft
N | ‘\‘
~— i t/
Folding by 90 degree and Make sure that folding
stick to door surface line is vertical

4. Make hole as per specification. (@32)

5. Select Push/Pull direction of front cabinet & Back cabinet
before installation.
(Refer to instruction of "Change Push/Pull direction”)

6. Put the cable of Front cabinet through hole (&32)
to indoor.

Pull out this cable through hole " ==

on upper side of Bracket for back cabinet & rubber pad.

And pull out the mortise lock cable through the hole’
"] " on below side of Bracket for back cabinet.

7. As per door thickness, cut the key tail plate refer to the below
table. Confirm the cable is not jammed and fix the front
& back cabinet by screws. (BH M5X30, 4EA)

P
- S| oof o
— BH M5X30
é]] 2EA
__| | Outdoor Indoor
L
N 9 o
@ OB —g—=0
= 0 BH M5X30
e R o 2EA
© 0
v S
Door Thickness Key tail plat Door Thickness Key tail plate
40 mm [ —— 90 mm 6
50 mm P [E—— 100 mm 7
60 mm 3| —mm 110 mm ) e p—
70 mm Y [CE—— 120 mm 9 | (e —mmrEren
80 mm 5 |Ce e

Notice) Insert key shaft to hole ® correctly.

8. Connect two cables to Back cabinet exactly. Open the deco
cover of Back cabinet and fix using screws.
(Upper side OH M5X11, 2EA / Lower side BH M5X24, 2EA)

7z
|3,

Cable
from Front cabinet

OH M5X11
i 2EA

Mortise lock | &
cable

Cable position

BH M5X24

9. Close deco cover after installation. A

Deco Cover

 Check operation of product
Back cabinet

Indoor .
<

Open the door
by pushing

or pulling

the handle

Mortise lock )

» .

T |

When you close door,
it's locked automatically.

Deadbolt and latch bolt
are go inside

 Checking point after installation

~ Insert batteries correctly and do open/close test at indoor
~/ Register secret code as per user manual
Factory setting : Normal mode, Secret code "O@@@®®"



